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Principles of Economics, p. 10

Detailed Review of 

Topics from Micro & Macro Principles
Economics:  

A social science investigating the optimal allocation of scarce resources subject to certain constraints.

Scarcity:  There are not enough resources to produce everything everybody wants.

Constraints:  Scarcity forces trade-offs with respect to means (income).

Factors of Production = Resources = Land, Labor, Physical Capital and Human Capital

Circular Flow Diagram:  

Sectors:  Households, Firms, Government, Financial, Foreign
Equilibrium Condition:  Leakages (S,T,IM) = Injections (I,G,EX)
Micro:  Analysis of each individual sector

Macro:  Analysis of the economy as a whole

Criteria for judging economic outcomes:

Positive (objective, "is"):  Efficiency (Pareto), Growth, Stability

Normative (subjective, "should"):  Equity, Ethics

Modeling Assumptions:
1.  Ceteris Paribus

2.  Free Will

3.  More is better

4.  Self interested behavior (not selfish!)

Part I:  Brief Review of Micro and Macro Economics Principles–
Microeconomics
Definition of economics, microeconomics, macroeconomics

Points to remember when evaluating problems using economic analysis

Positive vs. Normative economics

Opportunity Cost


Production Possibilities Curve

Specialization & Trade according to the law of comparative advantage

Economic efficiency = technical & allocative

Theory of Exchange

3 basic economic questions

3 basic institutional arrangements used to answer economic questions = market, political, social

Property rights as a complement to the market process

Adam Smith – invisible hand

Selfish vs. self-interest

3 criteria used to evaluate market, political & social processes = equity/fairness, efficiency, liberty

Rational behavior

Scarcity ( competition ( rationing ( discrimination

Markets

Relative vs. Monetary prices

Law of demand

Law of supply

Demand & supply shifters

Equilibrium, shortages & surpluses

How markets return to equilibrium if actual price is above or below equilibrium price

Functions of prices

Elasticity: 
P  elasticity of demand



P  elasticity of supply



Income elasticity

Short-run business decisions:


Short-run cost curves


Profit maximizing or loss minimizing level of output (Q*)


Shut-down point

Long-run business decisions:


Long-run cost curves

Market structures = Pure Competition, Monopoly, Oligopoly

Economic efficiency within each type of market structure

Macroeconomics
Rationale for using political process to solve economic questions:

I
Production Decisions:



Lack of competition



	Externalities
	}
	Market Failure

	Public goods
	
	



Poor Information


Economic Instability

II
Redistribution of Income:


Problems with political process


Employment Act of 1946


Output = GDP:



(A)  Expenditure Approach ( GDP = C + I + G + NE



(B)  Income Approach ( NI = wages & salaries + interest + rents + profits


Differences between GDP & NI


Real vs. Nominal GDP


Problems with GDP as a measure of output


Price indices:


GDP deflator, CPI, PPI


Laspeyres vs. Paasche index


Problems with using p indices to measure changes in prices

Inflation, (t  = Pt – Pt – 1      where P = P index




         P t  - 1


Effects of inflation on economy

Hyperinflation

Unemployment, u = no. unemployed         where LF = U + E




        LF

Frictional, structural, & cyclical U


Full employment

Problems with using U to measure labor market conditions

Business Cycles

Natural Rate of U vs. Actual Rate of U

Potential GDP vs. Actual GDP

Goods and Services Market:


AD & AS curves, equilibrium, AD & AS shifters

Labor Market 

Money Market - MD + MS curves

Credit Market – MD depends on income, interest rates & institutional factors

Definition of Money

Function of  Money

Nominal vs. Real Money

Federal Reserve System:


12 district banks


Board of Governors


Federal Open Market Committee (FOMC)


Member banks

Banking system = money creation

Equation of exchange

Neutrality of money

Fiscal policy = definition, how it affects economy, effectiveness

Monetary policy = definition, how it affects economy, effectiveness

Int’l Trade = effects of tariffs, quotas, & voluntary exchange restrictions
Part II:  More Detailed Review of Micro and Macro Economics Principles–
COSTS:
Total Cost = Accounting Costs + Opportunity Costs
Opportunity Costs:  Costs associated with forgoing the next best alternative.  

Each decision to produce a good or service means that the resources necessary for production are diverted from their next best use.

Examples:

1.  Building a mall on a lake.

2.  Going to a Basketball Game.

3.  College Education.

4.  Urban Sprawl

5.  Investment in Capital versus Consumption goods.


Investment in private or public infrastructure leads to sustained growth and increased efficiency.  It is a more appropriate long run goal.  Soviets invested in bridges, roads, factories and obtained very high growth rates for many years.  They fell behind in part due to the fact that by eliminating privatization, they eliminated the incentives for innovation.  People were told to sacrifice consumption goods for the good of their children's future.

Production Possibilities Frontier:  Locus of all feasible, efficient production possibilities.  Illustrates the trade-offs (opportunity costs) associated with the production of two (or more) goods, given the factors of production available to a society.

Represents Technical Efficiency.
Example:  Spending on Infrastructure versus Health Care Spending
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A&C:  efficient, B:  inefficient (some factors are unemployed), D:  not feasible or unattainable

Marginal Rate of Transformation =

 = the Opportunity Cost of producing one good in terms of the other.

Example:  Military Spending versus Other Spending
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B to A:  Depression to World War II

C to A:  Up to Vietnam Era
Economic Growth:  Increased innovation, improved technology shift the PPF out.  Wars, natural disasters shift it in.
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Numerical Examples: 

Given the following points from a PPF with increasing opportunity costs:





A
B
C
D
E



National Parks:

0
10
20
30
40


Roads & Bridges:

280
240
180
100
0

The opportunity cost of moving from D to B is 20 NP or 140/20 RB/NP.

(NP, RB) = (15, 150) is inefficient;   (15, 250) is unattainable.

Given the following points from a PPF with constant opportunity costs:





A
B
C
D
E



National Parks:

0
10
20
30
40


Roads & Bridges:

280
210
140
70
0

International Trade:

Mercantilism:  Before Adam Smith the prevailing view was that trade hurt domestic job possibilities.  Government discouraged international trade.

Free Trade:  Adam Smith and David Ricardo advocated international trade through comparative advantage.
Absolute Advantage: The ability to produce a good at a lower absolute cost.  

We will employ a variation of the theme and take it to mean the ability to produce more of a good.

Comparative Advantage:  The ability to produce a good at a lower opportunity cost.

SUPPLY AND DEMAND

Market:  Where buyers and sellers meet to exchange goods and services at agreed prices.


Provides:  (1)  Allocative Efficiency  (2) Freedom of Choice


Can Fail to Provide:  (1) Stability  (2) Allocative Fairness (equality)  (3) Public Goods

Prices Provide:  (1) Motivation, (2) Information,  (3) Rationing Mechanism

An efficient market is one in which all arbitrage (profit) opportunities are exhausted immediately.

Demand:  The desire and ability to consume a good or service within a given period of time.

Supply:  The desire and ability to provide a good or service within a given period of time.

Quantity Demanded: Quantity desired at any given price within a given period of time.

Quantity Supplied:  Quantity desired at any given price within a given period of time.

Note: Picking a time frame is important.  However, the particular time frame is unimportant.  Just assume one is specified ahead of time.

Law of Demand:  Ceteris paribus, quantity demanded and price are inversely related.




This yields a downward sloping demand curve.

Demand:  Quantities demanded at all price levels.  "The whole curve."
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Ex:  The yearly domestic demand for IBM PC's is determined by the demands for each individual, each school, each university, each business and state, local and federal government.  For world demand one must figure demands for various countries as well.

Changes in quantity demanded occur if and only if there is a change in price (movement along D).

Changes in demand occur when anything other than price changes (shifts D).

Demand curve will shift whenever there is a change in:

1.  Tastes

2.  Income or wealth


Normal goods


Inferior goods  (spam, 10 year old cars)

3.  Prices of related goods


Complements (gas/cars, radio/batteries, ice cream/ sugar cones, steak/A1)
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Substitutes  (Lees/Levis, coffee/tea, Ice Cream/Frozen Yogurt).  Most are not perfect substitutes.
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4.  Population

5.  Expectations (weather, prices)
Ex.  Frozen yogurt, bell bottom pants, cassette tapes.

Law of Supply:  Ceteris paribus, quantity supplied and price are directly related.

This yields an upward sloping demand curve.

Possible Exceptions:  arenas, utilities (high start-up costs)

Changes in Price affect Changes in “Quantity Supplied.” 

This is illustrated by a MOVEMENT ALONG THE CURVE.

Other Changes cause Changes in “Supply.”  These SHIFT the whole curve.

Changes that SHIFT Supply:

1.  Change In Costs

2.  Change In Technology

3.  Change In Price Of Other Goods The Firm Produces

4.  Change In Number Of Suppliers

5.  Change In Expectations (Of Price Changes Or Input Restrictions).

An Excise Tax


An excise tax is a per unit tax on a good or service.  A sales tax is an example of an excise tax.  Since the dollar value of the tax must be collected from the firm, it follows that such a tax increases the firm's costs.  Thus, it will shift the supply curve left (up) by the exact amount of the tax.  Note that the tax amount is also represented by p' - m.





The firm will attempt to pass some of the burden of the tax to its consumers.  The extent to which this is possible depends on the elasticities of demand and supply.  Generally, the more elastic (inelastic) demand is, the more difficult (easier) it is for the firm to pass the tax burden to the consumer.  In contrast, the more inelastic (elastic) supply is, the more difficult (easier) it is to pass the tax burden onto the consumer.  Thus, if supply is relatively inelastic and demand is relatively elastic, the firm will end up paying most of the tax out of pocket.  However, if demand is relatively inelastic and supply is relatively elastic, then consumers will bear the greatest burden in the form of higher prices.


An excise tax is inefficient because it results in what is called "dead-weight loss."  Dead-weight loss occurs when consumer and or producer surplus is diminished.  Recall that consumer surplus is the area (triangle) bounded below by the equilibrium price and above by the demand curve.  It represents those units for which consumers would have been willing to pay more than the equilibrium price.  The area of producer surplus is bounded above by price and below by supply.  It represents those units the producer would have been willing to supply at a lower price.  Both these concepts arise naturally from the laws of demand and supply.  An excise tax diminishes these surplus areas because of the burden it places on both parties.




Contrasting Perfect Competition & Monopoly:
Recall the law of diminishing marginal productivity:  As you add more and more units of labor to a set of fixed capital, the additional output generated by each additional unit of labor declines.  This is what gives MC and the other cost curves their shape.

Several assumptions govern perfect competition:  (i) many, many sellers and buyers, (ii) homogeneous goods, (iii) free entry and exit, (iv) perfect information 

& (v) factor mobility.  These create a market where each firm has such a small share of the total market that they can not affect market price by changing their own price.  Thus, a perfectly competitive is a "price-taker."  Hence, PC firms have perfectly elastic Demand curves.  Moreover, whenever D is perfectly elastic, P=MR
Finally, as with any profit maximizing firm, a PC firm maximizes profits by choosing q where MR=MC.   ONLY in perfect competition is this condition equivalent to finding q where P=MC.

Two Cases:  (a)  Assume that Demand decreases.   (b)  Assume that Demand increases.

Conclusion:  A PC Market will always return to the price where P=min AC and economic profit is 0.  This is the long run position of the PC market.
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With case (a), in the LR, a decline in demand leaves price unchanged, but decreases market quantity (fewer firms remain).

With case (b), in the LR, an increase in demand leaves price unchanged, but increases market quantity (more firms have entered).

Monopoly:  A single firm industry

A Monopoly Market has "Barriers to Entry."  That is, things such as limited access to resources, licenses, huge start-up costs, violence preclude potential new firms' 

access to the market.  As a result, it is possible, though not at all certain, that a monopoly can make pure economic profit into the long run.
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Note:  


Exercise:  Sketch a situation that illustrates (i) a monopoly that must close immediately, and (ii) a monopoly that will only remain open in the SR.

Hint:  What if Demand, and thus MR,  falls?

Monoploly in Long Run:  Decreasing LRAC and LRMC imply that there are Economies of Scale. 
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Exercise:  Why doesn't a monopoly have a typical supply curve?

Surplus:  When firms act as price-taking competitors, industry price is dictated by industry demand and supply.  From class, we know that in the long run MR=P=MC for every firm.  That is, production continues as long as the price is greater than or equal to the cost of producing the last unit.  (If any firm were to produce beyond that point the firm would take a per-unit loss.)  In addition, the competitive price is consistent with minimum long run average costs and normal profits (=0).  Thus, from the consumers' perspective, the competitive outcome yields a socially optimal  price and quantity.
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Due to barriers of entry, a monopoly is able to manipulate price.   It chooses the price and quantity which maximize profits (determined by MR=MC).  For a profit maximizing monopoly, P>MR=MC.  Therefore, the monopolistic outcome is not socially optimal.  In comparison to the competitive outcome, monopoly price is higher and output lower, reducing consumer surplus.   

MACRO FUNDAMENTALS:  OUTPUT, PRICE, EMPLOYMENT
Macro Concerns:  


1.  Determinants of National Income.


2.  Aggregate Consumption and Investment.


3.  Aggregate Price Level.

Government Policy Tools:


1.  Fiscal Policy (Government Expenditures).


2.  Monetary Policy (Federal Reserve Bank - The Discount Rate).


3.  Income-Wage Policies (Minimum wage).


4.  Supply-Side Policy (Tax Cuts).
Gross Domestic Product:  The value of all final goods and services produced in the domestic economy in a given year.

Final Goods and Services:  Those that are consumed by the final purchaser.  They 


are not used as inputs for the production of some other good or service.


egg.:  Automobiles, Washing Machines, Big Macs

Intermediate Goods and Services:  Those that are used as inputs for the production of


some other good or service.


egg.:  Steel, Vinyl, Beef, Flour etc.


Some goods may be either intermediate or final depending on use.

Value Added:  The difference, at each stage of the production process, between


the value of product the firm sells and the cost of the materials used to


produce the product.


egg.:  Value Added in the Production of a loaf of bread

Subsets of Unemployment:

1.  Frictional Unemployment:  Reflects skill or job matching problems that individuals may face at any time.

Natural Rate of Unemployment:  It's around 5-6%.  It represents those workers that are in transition or between jobs.  The life-cycle and the business cycle make this inevitable.  People move in and out of jobs because of illness, failing businesses, school etc..  N.R.U. ≈FR.U.
2.  Structural Unemployment:  Arises from economic transition.  For example automation forced people to find other jobs.  Blue collar jobs decreased in number, but the service sector expanded.  It takes time for the work force to 
shift to match a newly defined economy.

3. Cyclical Unemployment:  The increase in unemployment due to downward trends in the business cycle or recession.  Cyclical = Actual - Natural Rate.

Seasonal Unemployment:  Expected variations in job opportunities due to seasonally dependent jobs.
Points to note:

· Discouraged workers and/or homeless are not included in these figures.

· Recessions can hurt the economy in the long run as well because during a recession there is not as much investment.  However, recessions are also seen to have a cleansing effect as firms act to eliminate their less efficient resources.  Recessions are also linked to reduced inflation.

· There are large discrepancies in the unemployment rate across demographic groups at different times.

· Unemployment is seen as a destabilizing economic and political phenomenon.

· GDP or Aggregate Expenditures (Y):  The total value of all final goods and services produced in a given year.

PRICE INDICIES:  REAL VS. NOMINAL

Real Values:  Values of goods and services expressed in terms of a base year.

Nominal Values:  Values of goods and services expressed in today’s' dollars.

Inflation And Price Indices

Inflation is the percentage increase in the overall price level.  It can be sustained over a period of time or be a short term phenomenon.  

When calculating price indices we wish to measure inflation so we fix a bundle of goods and compare the cost of this bundle at different periods in time.  Essentially, the bundle is fixed as prices vary. 

Consumer price index:  The CPI includes price changes for a sample bundle of consumer goods.  Quantities are fixed as prices vary.  Calculated monthly by the Bureau of Labor Statistics.

Producer Price Index:  The PPI includes price changes for a sample bundle of producer goods.

The CPI overestimates changes in the cost of living because of:

•
Substitution effects:  People tend to substitute from goods that become relatively more expensive.  They will not purchase the same quantities.  Thus, expenditures may only rise slightly compared to the CPI.  

•
Arrival of new goods, Disappearance of old ones:  Compact discs and PC's will not be in a base year before 1982 or so.

•
Quality Improvements:  The CPI ignores improvements in quality.

Example:  Calculating the CPI.

	
	Bread
	Milk
	Cotton (bale)

	Consumption
	3
	5
	1

	1979 $
	0.60
	1.50
	5.00

	1986 $
	0.80  up 33%
	1.90  up 26.7%
	6.00  up 20%

	1993 $
	1.00   up 25%,66.7%
	2.20  up 15.8%,46.7%
	7.50  up 25%,50%


Price Index:  We use 1979 as the base year.  
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 = 1.504 or 150.4%.

Inflation = The percentage change in price indices.

Inflation between 1979 and 1986: [image: image13.wmf]125 
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 = 0.252 or 25.2%.

 Inflation between 1979 and 1993: [image: image14.wmf]150 
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 = 0.504 or 50.4%.
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 = 0.201 or 20.1%.

Example:  If, in 1986, the minimum wage and the CPI were $3.35 and 1.252 and, in 1993, the minimum wage and the CPI were $4.25 and 1.504,  in which year were people better off?  What if the minimum wage for 1993 was only $4.00?

Solution:  a.  [image: image16.wmf]RW
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Note:  Inflation rates do not depend upon choice of base year.
MODELING THE MACRO ECONOMY

Aggregate (General) Price Level:  CPI, GDP Deflator

An increase (decrease) in this aggregate price level is INFLATION (deflation).


Can be thought of as the average "cost of living". 

Aggregate Output:  GDP.
ECONOMIC GROWTH:  The rate at which output is increasing/the economy is expanding.
Aggregate Demand:  The relationship between the general price level and the 


quantity of aggregate output demanded.  It is represented by a downward sloping


curve (due to the aggregate effect of the Law of Demand).  

Aggregate Supply:  The relationship between the general price level and the 


quantity of aggregate output supplied.  It is represented by an upward sloping


curve (due to the aggregate effect of the Law of Supply).

CAUTION!  In Micro a change in the price of a single good leads to changes in


the demand or supply for related goods (sub. & inc. effects).  In the aggregate, an


increase in the general price level means that the prices of all goods (on 


average) have increased.

THE GOODS MARKET, AGGREGATE DEMAND AND SUPPLY

Aggregate Demand:
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AD is negatively sloped because:  (change in output demanded)


1.  Wealth Effect:  A higher price level reduces purchasing power of existing wealth


2.  Foreign sector substitution effect:   As US prices rise, foreigners will purchase


 (cheaper) goods made elsewhere.  In addition, firms may decide to locate in


 countries where prices and costs are lower.  This hurts investment.


3.  Interest rate effect:  Borrowing need to finance any given project increases.  


This increases the demand for loanable funds, and thus, the rate of interest.

Things that SHIFT AD:  (At any given price level, aggregate demand changes)


1.  Consumption:


i.  Changes in Disposable Income (taxes etc.)



ii.  Changes in wealth or expected income (lottery).



iii.  Demographics (size and age of average household).



iv.  Household indebtedness.



v.  Expectations.


2.  Investment:


i.  Expected rates of return on investment.



ii.  Cost of capital.


3.  Government:


i.  Government purchases



ii.  Tax rates



iii.  Money (short-run phenomenon).


4.  Foreign Sector:  (X-M) = net exports



i.  Exports



ii.  Imports:  All previous categories also affect imports.

Important:  These together yield total (aggregate) expenditures.

Aggregate Supply
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Classical portion:  AE = Y and S = I always!  Plus, even if it didn't, interest rate, prices and wages will adjust so that full-employment always exists.  Thus, AS vertical and an increase in AD translates into higher prices only!

Keynesian portion:  Unemployment DOES exist!  Wages and prices are (downwardly) sticky.  S and I are not necessarily equal.  Thus, AD determines output

AS is upward sloping because:  (change in output supplied)


1.  Stickiness:  Prices adjust faster than production costs.


2.  Capacity:  it is more difficult to press idle resources into action when the economy is near capacity.


3.  Diminishing returns:  As output grows, eventually diminishing returns are


 reached.  That is, additional workers, capital are less efficient than those hired


 previously.  This puts upward pressure on prices as firms try to cover the 


increase in costs resulting from the drop in average productivity.

Shifts in AS:  (at any given price level, firms change output supplied)


1.  Resource Costs


2.  Technology


3.  Expectations (expected inflation, prosperity)


4.  Government Policies 



(Payroll, corporate taxes; Welfare and work vs. leisure decisions;  



Research funding and protection)

Putting it together...

Self Regulating Macroeconomic Equilibrium:  INVENTORY CHANGES ALERT FIRMS!  When AD and AS are equal there is no excess demand or supply of goods and services in the economy.  
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Example 1:  Describe the effect on prices and output when there is an increase in taxes and a serious natural disaster.

Solution:  The effect on the price level is ambiguous, but Y falls unambiguously.
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Example 2:  Expectations and Inflation

Assume the cost of oil increases.  This will tend to shift the AS to the left, raising prices and lowering output.  If the government wishes to restore output to its previous level then it must pursue expansionary policies.  This will increase AD, restoring output to its previous level, but increasing prices more!!!!!!
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An inflationary (expansionary) gap occurs when SR output exceeds LR capacity.  This increases the costs firms face, thus increasing prices.  In this case the actual rate of unemployment is lower than the natural rate of unemployment!  As a result, wages rise, causing the AS to shift to the left, to a new equilibrium at a higher price level, but at the natural output level.
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A recessionary gap occurs when SR output is less than LR capacity.  In this case the actual rate of unemployment is higher than the natural rate of unemployment!  As a result, wages fall via lay-offs and wage reductions, causing the AS to shift to the right, to a new equilibrium at a lower price level, but at the natural output level.  Note: we are inside the PPF!
[image: image25.wmf]Price 

Y 

LRAS

Y 

N 

1 

AD

AD

2 

Y 

o 

P 

o 

Recessionary Gap

AS2 

AS1 


MONETARY SECTOR

Money Demand:  The amount of money held as cash or in non-interest bearing checking accounts.

Interest:  The amount paid for the use of someone else's money.

Interest rate:  The opportunity cost of holding money.

Motives for Holding Money:

1.  Transactions Motive:  In order to purchase goods and services.

2.  Speculative Motive:  At times people hold money in order to maximize one's return on an investment.

3.  Precautionary Motive:  In order to guard against the unknown, to provide short term security.

Optimal Balance:  If Joe Moneypenny earns $2000 a month then if he draws on that all month his average monthly balance is considered to be $1000.  If he chooses to purchase a bond with half of the salary, selling it at mid-month, then his average monthly balances would be $500.  etc..  Obviously average monthly balances will ultimately depend, at least in part, on the rate of interest.


It might seem that, in order to maximize the return from interest, one would hold as little money as possible.  However, in practice there are transaction costs associated with making exchanges:  ATM fees, brokerage fees, time costs etc..
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Law of Interest:  When interest rates are high people will hold less money than when interest rates are low because when r is high, the opportunity cost of holding money is high.

Money Demand Curve:

r = rate of interest.

M = quantity of money held within a given interval of time.
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The Bond Market:  

T-Bills:  Government securities with maturity dates of less than one year.

Bonds:  Government securities with maturity dates of equal to or more than one year.
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The secondary market for bonds:  As the interest rate increases the price of bonds decreases and vice versa.

Example:  Assume that one buys a $100 U.S. bond which yields a fixed coupon payment of $10 (10%) until maturity.  If interest rates fall to 5%, then someone would be willing to pay up to $104.76 for that bond (they will receive $110 which is 105% of $104.76).  If interest rates rise to 15% then someone will be willing to pay at most $95.65 (then $110 represents a 15% return).

DETERMINANTS OF MONEY DEMAND:

MD = MD(r, T.C., Y, P or )
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1.  Changes in the interest rate  (changed in quantity demanded-movement(-)).

2.  Changes in the dollar value of transactions (change in demand-shift(+)).

3.  Changes in aggregate income (change in demand-shift(+)).

4.  Changes in the general price level or inflation (change in demand-shift(+)).

Equilibrium Interest Rate:
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Equilibrating Mechanism:
Md < Ms:  When this occurs there is more money than people wish to hold.  The "extra" will be used to purchase bonds.  Since the demand for bonds has increased, it follows that the price of bonds will increase.  Thus, the interest rate on bonds will decrease, returning the money market towards equilibrium.
Md > Ms:  When this occurs people desire to hold more money.  They obtain higher cash holdings by selling bonds.  Since the demand for bonds has decreased, it follows that the price of bonds will decrease.  Thus, the interest rate on bonds will increase, returning the money market to equilibrium.
Policy Tools:
The Fed can act to try to control the rate of interest by altering the money supply.  For example, if Ms increases then, temporarily,  at the current rate of interest, there is an excess supply of money.  The bond market will then adjust to bring the interest rate down.

•
Monetary Policy is said to be tight if the Fed acts to contract the money supply or slow its rate of growth.

•
Monetary Policy is said to be loose or easy if the Fed acts to increase the money supply or increase its rate of growth.

The Money Supply and the Federal Reserve
February 15, 2005
Definitions of Money:

1.  Medium of Exchange


- effectiveness relies on general acceptance as legal tender.


- very liquid.


- superior to barter system:  doesn't require coincidence of wants.

2.  Store of Value


- can be used to transfer purchasing power to another period.


- note that there is an opportunity cost associated with holding cash as opposed 


to some appreciable asset.

3.  Unit of Account


- provides a consistent way of measuring prices.

Types of Monies:

1.  Commodity Monies:  Have intrinsic value


e.g.  gold, silver, diamonds.

2.  Fiat Monies:  No intrinsic value, relies on acceptance.

Currency Debasement:  Erosion of real value of the currency because of inflation.


Measuring Money:  M1, M2, M3, etc.
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Financial Intermediaries:  Banks, S&L's, life insurance companies, pension funds.  Historically, Goldsmiths began the banking system.  People would store their gold in the goldsmith's vault.  In return the smith would give them an IOU.  The smith found that he could easily loan out some of the money since the people did not all need it at once.  Eventually, these IOU's became accepted in lieu of actually paying with the gold.  Thus, ownership was merely transferred.  This was the origin of the "note" or "bill".  

Bank Run:  Occurs when too many depositor desire their holdings at once.

Required Reserve Ratio:  A minimum percentage of all deposits must be held in cash.  That is, they can not be lent.  This is enforced so as to minimize the possibility of a run on a bank.

Federal Banking System:

Federal Reserve:  In charge of Monetary Policy (money creation).  Prints the Federal Reserve Notes that we use as legal tender.   The Treasury mints coins. 

Board:  President appoints 7 members of the board of governors.  Each has a 14 year term, spaced 2 years apart.  The president also chooses a Fed chairman.

e.g.  Paul Volker, Alan Greenspan.


Federal Reserve Banks:  Twelve banks which help to carry out Fed policies.


Federal Reserve Open Market Committee:  Board of Governors + President of the



New York Fed + 4 of 11 of the other Federal reserve Bank Presidents



on a rotating basis.  This committee sets up monetary policies.


The Federal Reserve is the Banks' Bank!

Discount Rate:  The rate at which the Fed lends money to banks.

Federal Funds Market and Rate:  Allows the Banks to borrow from each others' reserves to cover temporary shortages in their reserve requirement at an interest rate set by the Fed.

Money Creation
The Federal Reserve can alter the money supply by:

1.  Open Market Operations - Buying and selling government securities.

2.  Altering the required reserve ratio.

3.  Lending reserves to banks through the discount window.

1.  Using Open Market Operations.

EXAMPLE 3:  Assume that the Fed wishes to increase the money supply using open market operations.  It begins by purchasing $1000 in U.S. Securities from Hoosier Holdings Bank.  The Fed has exchanged money ($1000) for securities (not money), thus, increasing the money supply.  But, that's not the end of the story....

Assume that all Banks are fully loaned up at all times.  i.e. There are no excess reserves.

Summary of monetary expansion:
	
	Increase in

Demand Deposits
	Increase in Required Reserves
	Increase in Loans

Col.1 - Col.2

	I.U.'s Bank
	1,000
	100
	900

	Honest Karl's Bank
	900
	90
	810

	Rebecca's Bank
	810
	81
	729

	Gertrude's Bank
	729
	72.90
	656.10

	All Other Banks
	6,561
	656.10
	5,904.90

	Total
	10,000
	1,000
	9,000


Thus,  The actual money supply has increased by [image: image32.wmf]1 
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Question:  How does this scenario change if the RRR increases?  Decreases?  If the Banks are not necessarily fully loaned up?

EXAMPLE 1:  If the Fed sells $5000 in government securities via OMO with a RRR of 25%, by how much will the money supply change?

SOLUTION:  It will DECREASE by $5,000(1/0.25) = $20,000.

2.  Changing the Required Reserve Ratio:

This allows for greater growth in the money supply if the RRR is lower, and less growth in the money supply if the RRR is raised.

EXAMPLE 2:  If the Fed changes the RRR from 20% to 10%, by how much will the money supply change?  What if it increases the RRR to 25%?

SOLUTION:  It will INCREASE by the ratio between the new multiplier  and the old:  1/0.2 = 5, 1/0.1 = 10, thus 10/5 =2, and the money supply will double.


If the RRR increases to 25% then the money supply will DECREASE to [image: image34.wmf]1 
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  or 80% of its previous size.

3.  Using the Discount Window:

Since the Fed prints the money, the money it lends is new.  Lending it to banks will have the same multiplier effect on the size of the money supply.  However, it is difficult to use this method to regulate the money supply since it relies on the timing, wishes and whims of the Banks that require loans.  Plus, changing the discount rate will never increase the money supply!  It can only affect how much it will decrease because the net effect of the principle is zero.  The interest is money removed from the economy.

EXAMPLE 3:  If the Fed loans $5000 to a bank and the discount rate is 10%, by how much will the money supply change?

SOLUTION:  It will DECREASE by $5,000(0.10) = $500.

The Money Supply Curve is assumed to be independent of the interest rate (price of money), thus it is perfectly inelastic.
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